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上圖由右至左分別為"除以8~除以2的頻率圖"
問題：沒有除以1的頻率 → DEAD
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* Library Name: Labl
* Cell Name: divider

* View Name: schematic
HAAAAAAAAAAAA A Ak

$$$$$ div vdd vss clk s2b s3b s4b s5b s6b s7b s8b qr $$$¢
$$$$$ decorder vdd vss conl con2 con3 decl dec2 dec3 dec4 dec5 dec6 dec7 dec8 $$$$%
$$6$$ NAND2 vdd vss inl in2 out $$$$$

.include './divider.spi’
.include './NAND2.spi'
.include './decorder.spi’

* Xtop con3 con2 conl clk clk_out vdd vss
.subckt top_module s3 s2 sl clk out vdd vss

.param Wn=1u Ln=0.18u Wp=2u Lp=0.18u ml=l
.param Wns=lu Wps=2u ms=1

HRRRRRRRR R CIrCUIt description HFHkEeEkRREER

X0 vdd vss sl s2 s3 slb s2b s3b s4b s5b s6b s7b s8b decorder
XL vdd vss clk s2b s3b sdb s5b s6b s7b s8b out| div

.ends
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